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Course Code: Soc 305 (S) 2006
UNIVERSITY OF SWAZILAND
FACULTY OF SOCIAL SCIENCE
DEPARTMENT OF SOCIOLOGY

SUPPLEMENTARY EXAMINATION PAPER, JULY 2006

TITLE OF PAPER : PATTERNS OF INDUSTRIAL DEVELOPMENT
COURSE CODE : SOC 305

TIME ALLOWED : TWO (2) HOURS

INSTRUCTIONS : 1. ANSWER ANY THREE (3) QUESTIONS.

2. QUESTIONS CARRY EQUAL MARKS.

THISPAPER ISNOT TO BE OPENED UNTIL PERMISSION HAS BEEN GIVEN BY THE
INVIGILATOR.
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QUESTION 1

Explain the relevance of Swaziland’s industrialization strategy.

UESTION 2

Why did many newly industrialising countries (NICs) abandon the import-substitution
industrialization strategy?

QUESTION 3

Britain’s industrialisation process managed to change the whole social structure of Britain. Discuss.

‘QUESTION 4

African industrialisation is dependent on public enterprises or state owned enterprises (SOEs).
Discuss the challenges of adopting this approach of industrialisation.

QUESTION 35

Would Marx or Weber best explain the labour practices in modern industrial society? Discuss.

QUESTION 6

What are the prospects and challenges of a post-industrial society?



